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R2 = 3 J r2 = 2 J m1 = 6 J m2 = 10 J m3 = 10 J
m4 = 10 J S = 108 K
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R1 = 4 J r1 = 2 J R2 = 3 J r2 = 2 J R3 = 3 J r3 = 2 J
m1 = 1 J m2 = 15 J m3 = 10 J m4 = 10 J S = 72 J
cosα = 0,8 K
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R2 = 3 J r2 = 2 J m1 = 5 J m2 = 15 J m3 = 6 J
m4 = 10 J S = 144 J cosα = 0,8 J β = π/3 K
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R2 = 3 J r2 = 2 J m1 = 10 J m2 = 5 J m3 = 30 J
m4 = 10 J S = 40 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 10 J m2 = 10 J
m3 = 16 J m4 = 10 J S = 138 J cosα = 0,8 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 3 J R3 = 3 J r3 = 2 J
m1 = 3 J m2 = 15 J m3 = 15 J m4 = 10 J S = 86 J
cosα = 0,8 K
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R2 = 4 J r2 = 3 J m1 = 8 J m2 = 15 J m3 = 15 J
m4 = 10 J S = 192 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 2 J R3 = 3 J r3 = 2 J
m1 = 1 J m2 = 10 J m3 = 10 J m4 = 15 J S = 36 J
cosα = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 5 J m2 = 10 J m3 = 4 J
m4 = 15 J S = 102 J cosα = 0,6 J β = π/3 K
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R2 = 4 J r2 = 2 J m1 = 10 J m2 = 6 J m3 = 20 J
m4 = 15 J S = 82 K
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R2 = 4 J r2 = 2 J m1 = 5 J m2 = 15 J m3 = 1 J
m4 = 15 J S = 144 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J m1 = 1 J m2 = 10 J m3 = 15 J
m4 = 15 J S = 41 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J m1 = 10 J m2 = 10 J m3 = 15 J
m4 = 15 J S = 150 K
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R1 = 4 J r1 = 2 J R2 = 5 J r2 = 3 J m1 = 3 J m2 = 15 J
m3 = 15 J m4 = 15 J S = 96 J α = π/3 K
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R1 = 5 J r1 = 3 J R2 = 5 J r2 = 3 J m1 = 48 J m2 = 15 J
m3 = 20 J m4 = 15 J S = 392 J α = π/3 J cos β = 0,8 K
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R2 = 3 J r2 = 2 J m1 = 10 J m2 = 2 J m3 = 20 J
m4 = 10 J S = 32 K
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R2 = 3 J r2 = 2 J m1 = 2 J m2 = 10 J m3 = 6 J
m4 = 10 J S = 84 J α = π/3 K
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R2 = 3 J r2 = 2 J R3 = 4 J r3 = 3 J m1 = 5 J m2 = 15 J
m3 = 10 J m4 = 10 J S = 80 J cosα = 0,8 K
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R2 = 3 J r2 = 2 J m1 = 4 J m2 = 15 J m3 = 10 J
m4 = 10 J S = 156 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 3 J R3 = 4 J r3 = 3 J
m1 = 20 J m2 = 10 J m3 = 15 J m4 = 10 J S = 55 J
cosα = 0,8 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 10 J m2 = 10 J
m3 = 15 J m4 = 10 J S = 135 J cosα = 0,8 J cos β =

0,6 K

234353 678 9LL 9 k @No PAC k XPD>R

F

G

S�

H

I

R2 = 4 J r2 = 2 J m1 = 10 J m2 = 12 J m3 = 30 J
m4 = 10 J S = 94 K
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R2 = 4 J r2 = 3 J m1 = 10 J m2 = 15 J m3 = 6 J
m4 = 10 J S = 164 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 2 J R3 = 4 J r3 = 3 J
m1 = 50 J m2 = 10 J m3 = 10 J m4 = 15 J S = 85 J
cosα = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 4 J m2 = 10 J m3 = 10 J
m4 = 15 J S = 117 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 2 J R3 = 4 J r3 = 3 J
m1 = 15 J m2 = 15 J m3 = 10 J m4 = 15 J S = 110 J
cosα = 0,6 K
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R1 = 5 J r1 = 3 J R2 = 4 J r2 = 2 J m1 = 8 J m2 = 15 J
m3 = 6 J m4 = 15 J S = 176 J cosα = 0,6 J β = π/3 K

234353 678 9Lc 9 Q CbZ@ k XPD>R

F

G

S-

H

I

R2 = 3 J r2 = 2 J m1 = 10 J m2 = 10 J m3 = 30 J
m4 = 15 J S = 50 K
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R2 = 5 J r2 = 3 J m1 = 10 J m2 = 10 J m3 = 6 J
m4 = 15 J S = 123 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J R3 = 4 J r3 = 3 J m1 = 20 J m2 = 15 J
m3 = 15 J m4 = 15 J S = 130 J α = π/3 K
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R2 = 5 J r2 = 3 J m1 = 6 J m2 = 15 J m3 = 15 J
m4 = 15 J S = 204 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 1 J m2 = 10 J
m3 = 10 J m4 = 10 J S = 62 J α = π/3 K
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R1 = 4 J r1 = 3 J R2 = 3 J r2 = 2 J m1 = 3 J m2 = 13 J
m3 = 10 J m4 = 10 J S = 72 J α = π/3 J cosβ = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 13 J m2 = 2 J m3 = 20 J
m4 = 10 J S = 105 K
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R1 = 5 J r1 = 3 J R2 = 3 J r2 = 2 J m1 = 10 J m2 = 12 J
m3 = 5 J m4 = 10 J S = 111 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 3 J R3 = 4 J r3 = 2 J
m1 = 50 J m2 = 10 J m3 = 15 J m4 = 10 J S = 170 J
cosα = 0,8 K
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R2 = 4 J r2 = 3 J m1 = 3 J m2 = 13 J m3 = 15 J
m4 = 10 J S = 82 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 3 J m1 = 5 J m2 = 15 J
m3 = 15 J m4 = 10 J S = 135 J cosα = 0,8 K
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R1 = 5 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 3 J m2 = 12 J
m3 = 2 J m4 = 13 J S = 90 J cosα = 0,8 J β = π/3 K
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R2 = 3 J r2 = 2 J m1 = 13 J m2 = 5 J m3 = 20 J
m4 = 15 J S = 86 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 2 J m1 = 5 J m2 = 13 J
m3 = 2 J m4 = 15 J S = 70 J cosα = 0,6 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 2 J R3 = 4 J r3 = 2 J
m1 = 10 J m2 = 15 J m3 = 10 J m4 = 15 J S = 150 J
cosα = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 4 J m2 = 12 J m3 = 13 J
m4 = 15 J S = 132 K
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R2 = 5 J r2 = 3 J m1 = 25 J m2 = 10 J m3 = 15 J
m4 = 15 J S = 130 J cosα = 0,6 K
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R1 = 4 J r1 = 3 J R2 = 5 J r2 = 3 J m1 = 25 J m2 = 13 J
m3 = 15 J m4 = 15 J S = 136 J cosα = cos β = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 13 J m2 = 6 J m3 = 30 J
m4 = 15 J S = 147 K
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R2 = 5 J r2 = 3 J m1 = 2 J m2 = 12 J m3 = 6 J
m4 = 12 J S = 96 J α = π/3 K
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R2 = 3 J r2 = 2 J m1 = 4 J m2 = 10 J m3 = 10 J
m4 = 10 J S = 68 J α = π/3 K
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R2 = 3 J r2 = 2 J m1 = 6 J m2 = 13 J m3 = 10 J
m4 = 10 J S = 78 K
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R2 = 3 J r2 = 2 J m1 = 6 J m2 = 15 J m3 = 10 J
m4 = 10 J S = 123 J α = π/3 K
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R2 = 3 J r2 = 2 J m1 = 16 J m2 = 12 J m3 = 10 J
m4 = 10 J S = 144 J α = π/3 J cos β = 0,8 K
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R2 = 3 J r2 = 2 J m1 = 13 J m2 = 10 J m3 = 30 J
m4 = 10 J S = 96 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 10 J m2 = 13 J
m3 = 32 J m4 = 10 J S = 130 J cosα = 0,8 K
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